™ Munters

Air extraction fan Saturn FIVE
Estrattore d’aria

Ventilateur Extraction
Abzugshauben
Ventiladores extractores
Ventiladores extractores

AM_SaturnFIVE_202411_Multi
P/N 2200221

Assembly instructions
Istruzioni di assemblaggio
Instructions d’assemblage
Montageanleitung
Instrucciones de ensamblaje
Instrucées de montagem

00000806




& Munters

Saturn FIVE
MOTOR POWER: ~ 1,5HP
Eotenzu Motore: 1,5 Hp
. - vissance moteur: 1,5 H
Saturn FIVE High Efficiency  iotoreisung: -~ 15 Ho
Potencio del motor: 1,5 Hp
Poténcia do motor: 1,5 Hp
MODEL:  BELT DRIVE TRASMISSION ~ PROPELLER: 3 BLADES
Modello: Trasmissione a cinghia Elica: 3 Pale
Modgle:  Commande par courroie Hélice: 3 Pales
Modell:  Riemenantrieh Propeller: 3 Schaufeln
Modelo: Transmisidn por correa Hélice: 3 dlabes
Modelo: Acionamento por correios ~ Hélice: 3 Pds
HP MOTOR POWER: 2 HP
|I;otenzu Motore: 2 Hp
. Uissance moteur: 2 H
Saturn FIVE High Pressure  motoreistung: QHB
Potencia del motor: 2 Hp
Poténcio do motor: 2 Hp
MODEL:  BELT DRIVE TRASMISSION ~ PROPELLER: 6 BLADES
Modello: Trasmissione a cinghia Flica: 6 Pale
Modéle: Commande par courroie Hélice: 6 Pales
Modell:  Riemenantrieb Propeller: 6 Schaufeln
Modelo:  Transmisidn por correa Hélice: 6 dlabes
Modelo: Acionamento por correios ~ Hélice: 6 Pds
MOTOR POWER: 2 HP
Eotenzu Motore: 2 Hp
. . Uissance moteur: 2 H
Saturn FIVE Direct Drive  hotoreistung: 2 HB
Potencia del motor: 2 Hp
Poténcio do motor: 2 Hp 3
MODEL: DIRECT DRIVE PROPELLER: 3-5 BLADES N
Modello: Trasmissione diretta Elica: 35 Pale ‘o2
Modgle: Entrainement direct Hélice: 35 Pales o
Modell:  Direktantriebs Propeller: 35 Schaufeln
Modelo: Transmision directa Hélice: 35 dlabes
Modelo: Transmissdo direta Hélice: 35 Pds
MOTOR POWER: 3 Hp
Fotenzu Motore: g Hp
. uissance moteur: Hp
S(]TUfn FlVE E'l_lﬂe Mo]‘oﬂeig]‘ung: 3 Hp
Potencio el motor: 3 Hp
l\/\ODEL:. E-LINE Poténcia do motor: 3 Hp
Model: ELine PROPELLER: 35 BLADES
Modgle: - ELine Elica: 3-5 Pale
Mogeili E:F”e Helice: 35 Pales
i del(): i Propeller: 35 Schaufeln
008l0: - ttine Helice: 35 dlabes
Hélice: 35 Pds

Saturn FIVE



& Munters

Saturn FIVE

Summary / Sommario / Sommaire / Inhaltsangabe / Resumen / Sumdrio

BODY AND MOTOR ASSEMBLY

ASSEMBLAGGIO CARROZZERIA E MOTORE

ASSEMBLAGE CARROSSERIE ET MOTEUR

ZUSAMMENBAU VON AUFBAU UND MOTOR
ENSAMBLAJE DE LA CARROCERIA Y DEL MOTOR
MONTAGEM DO CORPO E DO MOTOR

0r.0T  SupersTRUCTURE ASSEMBLY // ASSEMBLAGGI SUPERSTRUTTURA / MoNTAGE

STRUCTURE SUPERIEURE / ZUsnmeNBAU DEr SupersTRUKTUR /EnsamaLale D La

SupResTRUCTURA / MonTaGEM Da SupeResTRUTURA

0p.01  SUPERSTRUCTURE ASSEMBLY / ASSEMBLAGGIO SUPERSTRUTTURA / MoNTAGE

STRUCTURE SuPERIEURE /' Zusamensau Der SupersTrukTuR /EnsameLase De La

SupEResTRUCTURA // MoNTAGEM Da SUPERESTRUTURA

0r.0T  SupersTRUCTURE ASSEMBLY // ASSEMBLAGGIO SUPERSTRUTTURA / MoNTAGE

STRUCTURE SUPERIEURE / ZusamensAu DEr SupersTRUKTUR /EnsamaLale D La

9 0p.07 PaneL assemaLy (WaiMount) / Assemsiaceio paneLts (WauMounr) /

9
9
9
9
9

SUPERESTRUCTURA // MONTAGEM DA SUPERESTRUTURA ... 10
0r.02 Hus AssemLY / ASSEMBLAGGIO M0ZZ0 / ASSEMBLAGE DU MOYEU // MONTAGE DER
Nagt / ENSAMBLAJE DEL PORTABUIE / MONTAGEM DO CUBD. .vvvvvrreeeeeeene 11

0r.03
SUR LA STRUCTURE / BeFEsTIGUNG DER NABE AN DER STRUKTUR /' FilACION el
PORTABUJE SOBRE LA ESTRUCTURA /' FIXACRO DO CUBO A ESTRUTURA

0r.04
/ MonTGE DER FORDERER-BAUGRUPPE / ENSANBLAJE DEL TRANSPORTADOR /
MOoNTAGEM DA TRANSPORTADORA

0r.05

HUB FIXING ON STRUCTURE / Fissaoio mozzo s STRUT[URA/ Fixamion bu movey

CONVEYOR ASSENBLY / ASSEMBLAGGIO CONVOGLIATORE / ASSEMBLAGE DU CONVOYEUR

12

CONVEYOR FIXING ON STRUCTURE/FISSAGGIO CONVOGLIATORE SU STRU]TURA/FIXATION

DU CONVOYEUR SUR LA STRUGURE/BEFESTIGUNG DES FORDERERS AN DER STRUKTUR/

FIACION DEL TRANSPORTADOR SOBRE LA ESTRU(TURA/ FIXAGRO DA TRANSPORTADORA

0p.06  REINFORCEMENT BRACKET FIXING,/FISSAGGIO STAFFA DI RINFORZ0,/FivaTION Dk

13

L' EQUERRE DE RENFORCEMENT,/BEFESTIGUNG VON VERSTARKUNGSBUGELN / FLIACION DEL

ESTRIBO DE REFUERZO/ FIXACRO DA HASTE DE REFORCO

0p.07  PaNeL ASSEMBLY / ASSEMBLAGGIO PANNELLI / ASSEMBLAGE DES PANNEAUX /

Paneet-MoNTAGE /' ENSAMBLAJE DE L0S PANELES / MONTAGEM DOS PAINEIS

0r.08  PaneL ASSEMBLY / ASSEMBLAGGIO PANNELLI / ASSEMBLAGE DES PANNEAUY /

Panee-Montace /' ENSAMBLAIE DE 105 PANELES / MONTAGEM DOS PAINEIS

0r.09  PaneL ASSEMBLY / ASSEMBLAGGIO PANNELLI / ASSEMBLAGE DES PANNEAUY /

Panee-Montace /' ENSAMBLAIE DE 105 PANELES / MONTAGEM DOS PAINEIS

0r.10  Avete Brackers Mountivg / MoNTacolo STaFFe anGoLAR! / MoNTAGE DES

EQUERRES D'ANGLE / MoNTAGE WINKELHALTERUNGEN / MONTAJE DE L0S ESTRIBOS

14

14

15

0r.08

0r.09

0r.10

0p.11

0r.12

0r.13

0r.13

0r.13

0r.14

Or.15

Or.16

Or.16

Assempuace oes PANNEAUX (WaLLMounT) /' Paneet-Montace (WatLMoun)
/ EnsamgLut 0 Los PANELES (WALLMoUnT) / MoNTAGEM oS PAINES
(WawMounr) 16

Panet assemsLy (WauMount) /' AssempLaceio panettt (WauMounr) /
Assempuace oes Paneaux (WaiMount) /' Paneet-Montace (WaLMounr)

/ Ensampias 0 L0s panetes (WauMount) / MonTAGEM DoS PAINEIS
(WattMounr) 17

PaneL assemeLy (WauMount) /' Assemsiaceio pannettt (WaiMounr) /
Asstmlact oes paneaux (WattMoun) / Paeei-Montace (WatMounr)

/ EnsamgLase o Los paneLes (WaiMount) / MoNTaGe DoS PAINEIS
(WattMounr) 17

Avete Brackers Mountivg (WaiMounr) / MoNTaceio STAFFE ANGOLARI
(WattMount) / Monmas es éaueraes o'ancte (WaiLMounr) / Monmace
WinketsaLteronGe (WALLMounT) / MONTAJE DE L0S ESTRIBOS ANGULARES
(WauMount) / MontacEm bE SupoRTes aneuLaRes (WauMounr) ... 18

PaneL assemely (WauMount) /' Assemsiaceio pannelus (WaiMounr) /
Assemlace e aneaux (WattMoun) /' Paeei-Monmace (WauMounr)

// Ensampla D L0s panetes (WauMount) / MonTaGEM DoS PAINEIS
(WaMounr) 18

ASSEMBLY OF MOTOR SUPPORTS / ASSEMBLAGGIO SUPPORTI MOTORE / ASSEMBLAGE
SUPPORTS MOTEUR / MoNTAGE VON MOTORTRAGERN / ENSANBLAJE DE L0S SOPORTES
PARA EL MOTOR / MONTAGEM DOS SUPORTES DO MOTOR

Moror Mounivg / Montaeio Motore / Montace ou moreur / Montace
oes Morors / MoNTase et moToR / MoNTAGEM Do MOTOR

Moror Mountivg / Montaceio Motore / Montace ou moreur / Montace
oes Morors / MoNTase et moToR / MoNTAGEM Do MOTOR

Moror Mountivg / Montaceio Motore / Montace ou moreur / Montace
oes Morors / MoNTase et moToR / MoNTAGEM Do MOTOR

(CONDENSATE DRAIN AND FAIRLEAD,/SCARICO CONDENSA E PASSACAVO/ Ecoutement
DES CONDENSATS ET PRESSE-£TOUPE / KONDENSATABLAUF UND KABELVERSCHRAUBUNG/
ESCAPE CONDENSACION Y PASACABLES /DESCARGA DE CONDENSACRO E IIHO .. 21

TRANSHISSION BELT MOUNTING / MONTAGGI0 CINGHIA TRASHISSIONE / MoNTAGE DE
LA COURROIE DE TRANSMISSION / MONTAGE DES ANTRIEBSRIEMENS / MONTAIE DE 1A
CORREA DE TRANSMISIGN / MONTAGEM DA CORREIA DE TRANSMISSAO

Fan mountin / Montacoio VenToLs / MoNTAGE DU VENTILATEUR / MoNTAGE DES
LiFrers / MoNTAJE DEL VENTILADOR // MONTAGEM DA VENTOINHA

Fan mounmig / Monacelo VENToLA / MONTAGE U VENTILATEUR / MONTAGE DEs

ANGULARES / MONTAGEM DE SUPORTES ANGULARES .- crvecrrecere 15 Lofrees / MoNTtE DEL VENTILADOR./ MONTAGEN DA VENTOIHA —.......... 23
Or.T1 Paet oLy / ASSENBLAGGO PANNEL / ASSEABLAGE DES PAMNEAUY 0p.16 Fan mountivg / Montaceio vetots / MonTaGE bu VenTATEUR / MONTAGE DES
/ PFNEH'MONT“GE/ ENSAMB,““E DE 105 paretes / Mowrhee bos LiFrers / MONTAJE DEL VENTILADOR / MONTAGEM DA VENTOHA —............. 24
PAINEISHONTAGGI0 PROFILO DELL'OSCURMNTE .o 16
Saturn FIVE 3



Saturn FIVE

& Munters

Summary / Sommario / Sommaire / Inhaltsangabe / Resumen / Sumrio

.16 Fan mounin / Montacsio vewtots / MonTae bu VeNTILATEUR / MoNTaGE
0es LUFTERS / MONTAIE DEL VENTILADOR / MONTAGEM DA VENTOINHA —...... 24

BUTTERFLY ASSEMBLY AND INSTALLATION
ASSEMBLAGGIO ED INSTALLAZIONE BUTTERFLY
ASSEMBLAGE ET INSTALLATION BUTTERFLY

ZUSAMMENBAU UND INSTALLATION BUTTERFLY .o 25
ENSAMBLAJE £ INSTALACION BUTTERFLY 25
MONTAGEM E INSTALACAO BUTTERFLY 25

0p.17  Mager uniT assemeLy / Asseneiaceio GRuppo Maoherl / ASSEMBLAGE
GROUPE AWMANTS / Zusumeneau DeR MAGNETBAUGRUPPE / ENSABLUE GRUPO
MagNEros / MONTAGEM GRUPO DE IS .......eeeeeeeeeeeeeeseeeee 25

RING ASSENBLY / ASSEMBLAGGI0 ANELLO / ASSEMBLAGE ANNEAU / ZUSAMMENBAU
e RiNcs/ ENSAMBLAIE ANILA / MONTAGEM DO ANEL

0r.18

0p.19  RiNG ASSEMBLY / ASSEMBLAGGIO ANELLO / ASSEMBLAGE ANNEAU // ZUSAMMENBAU

e RiNcs/ ENsAMBLAIE ANILA / MONTAGEM DO ANEL

0p.20 MaoNer u sTaLLATION / MonTaceio GRUPPO MAGNETI / MoNTAGE GRoUPE
Amans / Montace Der MAGNETBAUGRUPPE /' INSTALACION DEL GRUPO MAGNETOS
/ MontagEn bo 6Rupo DE Iis 2

0p.29 Bumereiy spRiNGS MouNTING / MoNTAG6I0 MoLLE Butrewrty / Montace
RessorTs Burrewrty / Montace Der FeoeRn BUTTERFLY /' INSTALACION RESORTES
BurrewrLy / MoNTAGEM DE MoLAS BuTTeRrLY

ASSEMBLY OF AIR EXTRACTION CONE UNIT
ASSEMBLAGGIO GRUPPO CONO DI SCARICO ARIA
MONTAGE DU GROUPE DU CONE D’EVACUATION DE L'AIR
MONTAGE LUFTAUSTRITTSKEGELEINHEIT

MONTAJE GRUPO CONO DE SALIDA DE AIRE
MONTAGEM DO GRUPO DO CONE DE DESCARGA DE AR

0p.30 Cone Moutmivg / Montaselo Cono / Montas bu cone / Monace oes

KeceLs / MonTale DEL CONO / MONTAGEM DO CONE—vvvvveveeeeeeeveeneene 33
0r.31  Cone Mounming / Monaceio Cono / MonTac bu coNe / MoNTAGE Es
KeceLs / MonTale DEL CONO / MONTAGEM DO CONE—.vvvvvvvveeeeeeveeneene 33
0r.32 Cone Mounming / Monaceio Coo / MonTaGE bu coNE / MoNTAGE Es
KeceLs / MonTale DEL CONO / MONTAGEM DO CONE—.vvvvvvvveeeeeeeveennae 34
0r.33  Cone Mounming / Monaceio Cono / MonTaGE bu coNE / MoNTAGE Es
KeseLs / MonTale DEL CONO / MONTAGEM DO CONE—vvvvvvvvvveeeeeevenenne 34

0.34  MounTiNG OF CONE PROTECTION GRILE / MoNTAGGI0 GRiGLIA PRoTEZIONE Cono /

0p.21 Magher o ivsTALLATION / Montacoio GRuppo MaGNETI / MONTAGE GROUPE MontaGe GRiLLE DE PROTECTION DU CONE / MonTAGE es KEGELSCHUTZGITTERS /
Aunars / Montae bEr MagHErBauRuPpe / INSTALACION DL GRUPO MaGNETos MoNTAJE REJLLA DE PROTECCION DEL CONO / MONTAGEM DA GRELHA DE PROTECHO DO
/ MontagEn Do GRupo DE s 27 CONE
0r.22 Ring mstalluho[l / MowmasGio AELO / .MONTAge anneau / fhllgTEK(Lw%)TNg%héEL giﬁhpglgowgﬁﬁﬂ%ﬁo o
MONTAge des RlﬂgS/ Instalacidn anilla / MONTAgem do anel INSTALLATION DU GROUPE CONE DEVACUATION DE L'AIR
28 INSTALLATION DER KEGELBAUGRUPPE ZUM LUFTAUSLASS
0.23  Door AsSEmBLY / ASSEMBLAGGID ANTE / ASSEMBLAGE VANTAUX / ZUSAMMENBAU mgﬁﬁ&%’\ln[g%ksﬁgg%g%%? EDE EDSECSACE\GR%I[\)E)?EE
DER TUREN/ ENSAMBLAJE DE LA PUERTA / MONTAGEM ANTE —~..vvvveeeeeee 29 ’
0.35  Cone INsTALLATION ON FAN / INsTALLAZIONE CONO SU VENTILATORE / INSTALLATION
.24 DooR ASSEMBLY / ASSEMBLAGGID ANTE / ASSEMBLAGE VANTAUX / ZUSAMMENBAU DU CONE SUR LE VENTLATECR / hsTaLon o KeceLs A LOFTER / hstauacon
OER TUREN/ ENSAMBLALE OF L PUERTA / MONTAGEM ATE ... 9 eL CONO EN EL VENTILADOR /' INSTALAGRO DO CONE NO VENTILADOR —......... 37
0r.25 DooR ASSEMBLY / ASSEMBLAGGIO ANTE / ASSEMBLAGE VANTAUX /' ZUSAMMENBAU INTERNAL PROTECTION GRID MOUNTING - 38
DER TUREN/ ENSAMBLAJE DE A PUERTA / MONTAGEM ANTE .ovvvvvvvee 30  MONTAGGIO GRIGLIA DI PROTEZIONE INTERNA  oeveveveeneeeee 38
. MONTAGE GRILLE DE PROTECTION INTERNE oo 38
0r.26 Burrerfly mounting on Fan / Mowmaceio Burresety s Venmuatore MONTAGE DES INTERNEN SCHUTZGITTERS o 38
/ MontagE BurrerrLy SUR (£ venmiATeUR / MonTace Burrerriy am LiFrer INSTALACION DE LA REJILLA DE PROTECCION INTERNA 38
/ WsTALACON e A Burreee e L veNTLADoR / Monace Burteery o MONTAGEM DA GRELHA DE PROTECAO INTERNA .o 38
VenTiabor 0, i
P.36  INTERNAL PROTECTION GRID MOUNTING // MONTAGGIO GRIGLIA DI PROTEZIONE
0r.27 Bumrerfly mounting on Fan / Mowisesio Burearey sut Vexruaioee INTERNA / MONTAGE GRILLE DE PROTECTION INTERNE / MONTAGE DES INTERNEN
./ Movtage BureerLy sk té venTiateur / Monrage Bumeeety an LeR SCHUTZGITTERS / INSTALACION DE LA REJILLA DE PROTECCION INTERNA // MONTAGEM
/ INSTALACION D 1A BuTTeRrL en eL venTiLADOR / MonTAGEM BuTregrLY o DA GRELfA DE PROTECHO INTERNA 39
VEnTitanor 31
0r.28  Burreeiy spRINGS MOUNTING / MonTacelo moLLE BurrerrLy / MonTace
RessoRTs Buttewrty / MonTace Der FEDERN BUTTERFLY /' INSTALACION RESORTES
BurteRrLy / MONTAGEM DE MOLAS BUTTERFLY ovvvvevevevereeeeeenns 31
4 Saturn FIVE



& Munters

Saturn FIVE

Tools / Utensili / Ustensiles / Werkzeuge / Instrumentos / Ferramentas

D

L0 J

Screwdriver Awvitatore Tournevis Schraubenzieher | Atornillador | Aparafusador
10Mm Spanner | Bussola 10mm | Boussole 10Mm 10mm-Buchse Buje 10Mm | Soquete 10Mm
32Mm Spanner | Bussola 32mm | Boussole 32Mm 32mm-Buchse Buje 32Mm | Soquete 32Mm
8Mm Spanner | Bussola 8mm | Boussole 8mm 8mm-Buchse Buje 8mm Soquete 8mm

13Mm Chiave L. Llave Chave
o ) Clé & molette 13mm- . .
Combination conbinata . . combinada combinada
13 mm Ringmaulschlissel
Spanner 13mm 13mm 13mm
SMm . Chiave Clé & molette 8mm- lelve Chf:ve
Combination ) . . combinada combinada
conbinata 8mm 8mm Ringmaulschlissel
Spanner 8mm 8mm
Chiave Clé Llave Chave

Torque wrench

dinamometrica

dynamométrique

Drehmomentschlissel

dinamométrica

dinamométrica

7 YSEANARN N\ 222

Inserting . Machine & . . Mdquina de
. Insertatrice . . Nieteinsetzmaschine Retestadora . _
Machine insertion insercdio
Philips Drive Bit | Inserto Philips | Insert Philips Philips-Einsatz Punta Philips | Ponta Philips
Long Spanner | Prolunga per | Extension de Buchsenverlinaerun Alargador | Extenséo para
v Vi U .
Adapter Bussola la boussole gerung para buje Soquete
. Punta da .
Drill bit @ trapano @ | Mache @ 13 mm Bohrerspitze Taladro de | Ponta de broca
13mm 1p3mm @ 13mm @ 13mm @ 13mm
Rlveh.n 9 Rivettatrice  [Machine & riveter Nietmaschine Remachadora Maqmlna
Machine de rebitar
Allen key Chiave a Brugola Clé Allen Inbusschlissel Llave Allen Chave Allen
6mm 6mm 6mm 6mm 6mm 6mm
Pliers Pinza Pince Zange Alicate Alicate
=4cm
~_| Support Supporto (H Support (H = . . Soporte Suporte (A =
T H= 4Cm Mi
%J (H=4Cm Min) | = 4Cm Min) dommin) |roger (H=dACmMinll e min) | 4Cm Min)

Saturn FIVE



Saturn FIVE

& Munters

@D Bolt & Nut HE HP DD EL | HE-WM | HP-WM | DD-WM | EL'WM
M6x30 Hex Screw 4 4 0 0 4 4 0 0
M8x20 Hex Screw 0 0 0 4 0 0 0 4
M8x25 Hex Screw W/F|ange 36 36 32 32 36 36 32 32
M8x50 Hex Screw 47 47 45 45 45 45 43 43
M8x65 Hex Screw 24 24 24 24 24 24 24 24
@6.3x19 Self-Tapping Screw 1 1 0 0 1 1 0 0
M8x30 Allen screw 7 7 7 7 7 7 7 7
M10x25 Hex Screw 0 0 1 1 0 0 1 1
M10x50 Hex Screw 0 0 4 0 0 0 4 0
M25 Hex Nut 1 1 0 0 1 1 0 0
Mé Hex Nut W/F|ange 4 4 0 0 4 4 0 0
M8 Hex Nut 4 4 0 0 4 4 0 0
M8 Hex Nut W/F|ange 103 103 101 101 101 101 99 99
M10 Hex Nut 0 0 4 0 0 0 4 0
@8 Toothed Washer 4 4 0 4 4 4 0 4
D6x24 Washer 17 17 16 16 17 17 16 16
D8x24 Washer 33 33 37 37 31 31 35 35
@8x32 Washer 24 24 24 24 24 24 24 24
D10x20 Washer 0 0 8 0 0 0 8 0
D17x30 Washer 6 6 6 6 6 6 6 )
D10x40 Washer 0 0 1 2 0 0 1 2
D10 Spring washer 0 0 1 1 0 0 1 1
&4.8x9 Pop Up Rivet 28 28 28 28 28 28 28 28
@6.4x12 Pop Up Rivet 34 34 34 34 24 24 24 24
M8x17.5 Threaded Bush 7 7 7 7 7 7 7 7
@ Vi e Dadi HE HP DD EL | HE-WM | HP-WM | DD-WM | EL-WM
Vite TE M6x30 4 4 0 0 4 4 0 0
Vite TE M8x20 0 0 0 4 0 0 0 4
Vite TE con flangia M8x25 36 36 32 32 36 36 32 32
Vite TE M8x50 47 47 45 45 45 45 43 43
Vite TE M8x65 24 24 24 24 24 24 24 24
Vite autofilettante @6.3x19 1 1 0 0 1 1 0 0
Vite TCEl M8x30 7 7 7 7 7 7 7 7
Vite TE M10x25 0 0 1 1 0 0 1 1
Vite TE M10x50 0 0 4 0 0 0 4 0
Dado esagonale M25 1 1 0 0 1 1 0 0
Dado esagonale con flangia M6 4 4 0 0 4 4 0 0
Dado esagonale M8 4 4 0 0 4 4 0 0
Dado esagonale con flangia M8 103 103 101 101 101 101 99 99
Dado esagonale M10 0 0 4 0 0 0 4 0
Rondella dentellata @8 4 4 0 4 4 4 0 4
Rondella @6x24 17 17 16 16 17 17 16 16
Rondella @8x24 33 33 37 37 31 31 35 35
Rondella @8x32 24 24 24 24 24 24 24 24
Rondella @10x20 0 0 8 0 0 0 8 0
Rondella @17x30 6 ) 6 6 6 6 6 )
Rondella D10x40 0 0 1 2 0 0 1 2
Rondella elastica D10 0 0 1 1 0 0 1 1
Rivetto &4.8x9 28 28 28 28 28 28 28 28
Rivetto @6.4x12 34 34 34 34 24 24 24 24
Boccola filettata M8x17.5 7 7 7 7 7 7 7 7

Saturn FIVE



M Munters Satur FIVE

@ Vis ef écrous HE HP DD EL | HE-WM | HP-WM | DD-WM | EL'WM
Vis TE M6x30 4 4 0 0 4 4 0 0
Vis TE M8x20 0 0 0 4 0 0 0 4
Vis TE avec bride M8x25 36 36 32 32 36 36 32 32
Vis TE M8x50 47 47 45 45 45 45 43 43
Vis TE M8x65 24 24 24 24 24 24 24 24
Vis autotaraudeuse @6.3x19 1 1 0 0 1 1 0 0
Vis CHC/BRT M8x30 7 7 7 7 7 7 7 7
Vis TE M10x25 0 0 1 1 0 0 1 1
Vis TE M10x50 0 0 4 0 0 0 4 0
Ecrou hexagonal M25 1 1 0 0 1 1 0 0
Ecrou hexagonal avec bride Mé 4 4 0 0 4 4 0 0
Ecrou hexagonal M8 4 4 0 0 4 4 0 0
Ecrou hexagonal avec bride M8 103 103 101 101 101 101 99 99
Ecrou hexagonal M10 0 0 4 0 0 0 4 0
Rondelle Dentée @8 4 4 0 4 4 4 0 4
Rondelle @6x24 17 17 16 16 17 17 16 16
Rondelle @8x24 33 33 37 37 31 31 35 35
Rondelle @8x32 24 24 24 24 24 24 24 24
Rondelle @10x20 0 0 8 0 0 8 0
Rondelle @17x30 ) 6 [ 6 6 6 6 6
Rondelle D10x40 0 0 1 2 0 0 1 2
Rondelle élastique @10 0 0 1 1 0 0 1 1
Rivet &4.8x9 28 28 28 28 28 28 28 28
Rivet @6.4x12 34 34 34 34 24 24 24 24
Bague filetée M8x17.5 7 7 7 7 7 7 7 7
© Schiauben und Schroubenmuttern | HE | WP | DD | EL | HEWM | HPWM | DDWM | ELWM
TE-Schraube Méx30 4 4 0 0 4 4 0 0
TE-Schraube M8x20 0 0 0 4 0 0 0 4
TE-Schraube mit Flansch M8x25 36 36 32 32 36 36 32 32
TE-Schraube M8x50 47 47 45 45 45 45 43 43
TE-Schraube M8x65 24 24 24 24 24 24 24 24
Selbstschneidende Schraube @6,3x19 1 1 0 0 1 1 0 0
Innensechskantschraube M8x30 7 7 7 7 7 7 7 7
TE-Schraube M10x25 0 0 1 1 0 0 1 1
TE-Schraube M10x50 0 0 4 0 0 0 4 0
Sechskantmutter M25 1 1 0 0 1 1 0 0
Sechskantmutter mitFlansch M6 4 4 0 0 4 4 0 0
Sechskantmutter M8 4 4 0 0 4 4 0 0
Sechskantmutter mitFlansch M8 103 103 101 101 101 101 99 99
Sechskantmutter M10 0 0 4 0 0 0 4 0
Zahnscheibe @8 4 4 0 4 4 4 0 4
Unterlegscheibe @6x24 17 17 16 16 17 17 16 16
Unterlegscheibe @8x24 33 33 37 37 31 31 35 35
Unterlegscheibe @8x32 24 24 24 24 24 24 24 24
Unterlegscheibe @10x20 0 0 8 0 0 0 8 0
Unterlegscheibe @17x30 6 6 6 6 6 6 6 )
Rondella D10x40 0 0 1 2 0 1 2
Elastische Unterlegscheibe @10 0 0 1 1 0 0 1 1
Niet &4.8x9 28 28 28 28 28 28 28 28
Niet @6.4x12 34 34 34 34 24 24 24 24
Gewindebuchse M8x17.5 7 7 7 7 7 7 7 7

Saturn FIVE 7



Saturn FIVE

& Munters

@ Tomillos v tuercas HE HP DD EL | HE-WM | HP-WM | DD-WM | EL'WM
Tornillo de cabeza hexagonal Méx30 4 4 0 0 4 4 0 0
Tornillo de cabeza hexagonal M8x20 0 0 0 4 0 0 0 4
Tornillo de cabeza hexagonal con brida M8x25 36 36 32 32 36 36 32 32
Tornillo de cabeza hexagonal M8x50 47 47 45 45 45 45 43 43
Tornillo de cabeza hexagonal M8x65 24 24 24 24 24 24 24 24
Tornilo autorroscante @6.3x19 1 1 0 0 1 1 0 0
Tornillo allen M8x30 7 7 7 7 7 7 7 7
Tornillo de cabeza hexagonal M10x25 0 0 1 1 0 0 1 1
Tornillo de cabeza hexagonal M10x50 0 0 4 0 0 0 4 0
Tuerca hexagonal M25 1 1 0 0 1 1 0 0
Tuerca hexagonal con brida M6 4 4 0 0 4 4 0 0
Tuerca hexagonal M8 4 4 0 0 4 4 0 0
Tuerca hexagonal con brida M8 103 103 101 101 101 101 99 99
Tuerca hexagonal M10 0 0 4 0 0 0 4 0
Arandela Dentada @8 4 4 0 4 4 4 0 4
Arandela @6x24 17 17 16 16 17 17 16 16
Arandela @8x24 33 33 37 37 31 31 35 35
Arandela @8x32 24 24 24 24 24 24 24 24
Arandela @10x20 0 0 8 0 0 0 8

Arandela @17x30 6 6 [ [ 6 [ 6

Arandela @10x40 0 0 1 2 0 0 1 2
Arandela eléstica @10 0 0 1 1 0 0 1 1
Remache @4.8x9 28 28 28 28 28 28 28 28
Remache @6.4x12 34 34 34 34 24 24 24 24
Casquillo roscado M8x17.5 7 7 7 7 7 7 7 7
@ Parafusos e porcas HE HP DD EL | HEWM | HP-WM | DD-WM | ELWM
Parafuso TE M6x30 4 4 0 0 4 4 0 0
Parafuso TE M8x20 0 0 0 4 0 0 0 4
Parafuso TE com flange M8x25 36 36 32 32 36 36 32 32
Parafuso TE M8x50 47 47 45 45 45 45 43 43
Parafuso TE M8x65 24 24 24 24 24 24 24 24
Parafuso autorroscante &6.3x19 1 1 0 0 1 1 0 0
Parafuso Allen M8x30 7 7 7 7 7 7 7 7
Parafuso TE M10x25 0 0 1 1 0 0 1 1
Parafuso TE M10x50 0 0 4 0 0 0 4 0
Porca hexagonal M25 1 1 0 0 1 1 0 0
Porca hexagonal com flange Mé 4 4 0 0 4 4 0 0
Porca hexagonal M8 4 4 0 0 4 4 0 0
Porca hexagonal com flange M8 103 103 101 101 101 101 99 99
Porca hexagonal M10 0 0 4 0 0 0 4 0
Arruela Serrilhada @8 4 4 0 4 4 4 0 4
Anilha @6x24 17 17 16 16 17 17 16 16
Anilha @8x24 33 33 37 37 31 31 35 35
Anilha @8x32 24 24 24 24 24 24 24 24
Anilha @10x20 0 0 8 0 0 0 8 0
Anilha @17x30 6 6 [} [ ) 6 6 )
Anilha @10.5x40 0 0 1 2 0 0 1 2
Anilha eléstica @10 0 0 1 1 0 0 1 1
Rebite &4.8x9 28 28 28 28 28 28 28 28
Rebite @6.4x12 34 34 34 34 24 24 24 24
Casquilho roscado M8x17.5 7 7 7 7 7 7 7 7

Saturn FIVE



& Munters

Saturn FIVE

@ BODY AND MOTOR ASSEMBLY

@ ASSEMBLAGGIO CARROZZERIA E MOTORE

@ ASSEMBLAGE CARROSSERIE ET MOTEUR

© [USAMMENBAU VON AUFBAU UND MOTOR
@ ENSAMBLAJE DE LA CARROCERIA Y DEL MOTOR

@ MONTAGEM DO CORPO E DO MOTOR

Superstructure Assembly / Assemblaggio superstruttura / Montage Structure Supérieure
/ Tusammenbau Der Superstruktur /Ensamblaje De La Superestructura / Montagem Da
Superestrutura

0p.0

~

HP
Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

% { 13 mm
/%
Bolts & Nuts/\Viti e dadi/Vis et écrous

/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

8X_  8X

e,

Saturn FIVE



Saturn FIVE

& Munters

Superstructure Assembly / Assemblaggio superstruttura / Montage Structure Supérieure
/ Tusammenbau Der Superstruktur/Ensamblaje De La Superestructura / Montagem Da
Superestrutura

0p.0

-

= J

Tools,/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

oY

13 mm

Bolts & Nuts/Vii e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tomillos y tuercas/Parafusos e porcas

8X_ 12X

Z2e,
z

Superstructure Assembly / Assemblaggio superstruttura / Montage Structure Supérieure
/ Tusammenbau Der Superstruktur/Ensamblaje De La Superestructura / Montagem Da
Superestrutura

0p.0

-

Tools/Utensili/Ustensiles /Werkzeuge
/Instrumentos/Ferramentas

Bolts & Nuts/Viti e dadi/\Vis et écrous
/Schrauben und Schraubenmuttern/
TorniIIos y 1uercus/Purofusos e poreas

12X

20
z

10

Saturn FIVE



& Munters

Saturn FIVE

Hub assembly / Assemblaggio mozzo / Assemblage du moyeu / Montage der Nabe /
Ensamblaje del portabuje / Montagem do cubo

0p.02
B

~

Hub fixing on structure / Fissaggio mozzo su struttura / Fixation du moyeu sur la structure
/ Befestigung der Nabe an der Struktur / Fijacidn del portabuje sobre la estructura /
Fixagdio do cubo d estrutura

=
0p.03

~

Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

10 mm

e

Bolts & Nuts/Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas,/Parafusos e porcas

4X 4X
&
Mé6x30) Mé

&% HP

Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

32 mm

e),
-

Bolts & Nuts/\Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

X 1X 1X
L) g 25 @i 4
)
Saturn FIVE 11



Saturn FIVE & Munters

Op 0 4 Conveyor assembly / Assemblaggio convogliatore / Assemblage du convoyeur / Montage

der Férderer-Baugruppe / Ensamblaje del transportador / Montagem da transportadora

=

Not Supplied
Non fornito

Non fourni

Nicht vorgesehen
No suministrado
Néo Fornecido

12 Saturn FIVE



& Munters

Saturn FIVE

la estructura/Fixagdo da fransportadora

Conveyor fixing on structure/Fissaggio convogliatore su struttura/Fixation du convoyeur
sur la structure /Befestigung des Farderers an der Struktur/Fijacion del transportador sobre

0p.05
B

Ay
Iy
,é‘ e
QQ

g
i/i(
@ﬁs/\m Nm
®

~

Tools/Utensili/Ustensiles /Werkzeuge
/Instrumentos/Ferramentas

13 mm

e

Bolts & Nuts/Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas,/Parafusos e porcas

8X 8 16X
M8X50 @8x24 M8
8X 8X

Al

\_
0p.0

haste de reforco

Reinforcement bracket fixing/Fissaggio staffa di rinforzo/Fixation de I'équerre de renfor-
cement/Befestigung von Verstirkungsbiigeln,/Fijacidn del estribo de refuerzo/ Fixacto da

-

L i .
Bracket not included in Wall Mount version

Staffa non inclusa nella versione Wall Mount

Le support n'est pas inclus dans la version Wall Mount

Die Halterung ist in der Wall Mount - Version nicht enthalten
El soporfe no estd incluido en la versién Wall Mount

O suporte ndo estd incluido na verséo Wall Mount

\

~

Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

&y

13 mm

Bolts & Nuts/\Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

2X  2X  2X
2@,

Saturn FIVE



Saturn FIVE M Munters
Panel assembly / Assemblaggio pannelli / Assemblage des panneaux / Paneel-Montage
Op-O / Ensamblae de los paneles / Montagem dos painéis

\ Tools,/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

&y

13 mm

Bolts & Nuts/Vii e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

2X__4X

»ID

1
Il 1
o
Ol ® >
OP.07 OP.08 j

N

% 14 Nm] ‘.\
’ (L)

Op 0 Panel assembly / Assemblaggio pannelli / Assemblage des panneaux / Paneel-Montage

/ Ensamblae de los paneles / Montagem dos painéis

Tools/Utensili/Ustensiles /Werkzeuge
OP'OQ\ /Instrumentos/Ferramentas

&Y

13 mm
%%
OP.08
Bolts & Nuts/\Vii e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
S Tornillos y tuercas/Parafusos e porcas
N 2X__4X_ 2X
S . 4Nm] M8X50 | | @8x24 M8
T
Ll @
° ! @%

14 Saturn FIVE



M Munters Saturn FIVE
p 09 Panel assembly / Assemblaggio pannelli / Assemblage des panneaux /' Paneel-Montage

/ Ensamblaje de los paneles / Montagem dos painéis

/ Tools/Utensili/Ustensiles /Werkzeuge
/Instrumentos/Ferramentas

n'/,,,,% =4 - ~ —)

13 mm

Bolts & Nuts/Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas,/Parafusos e porcas

4X_ 8X_ 4X

G

Angle Brackets Mounting / Montaggio Staffe angolari / Montage des équerres d’angle /
Op' ] O Montage Winkelhalterungen / Montaje de los estribos angulares / Montagem de suportes

\ Tools/Utensili/Ustensiles/Werkzeuge

/Instrumentos/Ferramentas

Bolts & Nuts/\Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

12X 4X

bl H

- J

Saturn FIVE 15




Saturn FIVE & Munters

Panel assembly / Assemblaggio pannelli / Assemblage des panneaux / Paneel-Montage
O p . ] / Ensamblaje de los paneles / Montagem dos paingismontaggio profilo dell’oscurante
HP

Tools,/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

~

Bolts & Nuts/Vii e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

22X 16X

Panel assembly (WallMount) / Assemblaggio pannelli (WallMount) / Assemblage des
Op°0 panneaux (WallMount) / Paneel-Montage (WallMount) / Ensamblaje de los paneles
(WallMount) / Montagem dos painéis (WallMount) HP

\ Tools/Utensili/Ustensiles /Werkzeuge

/Instrumentos/Ferramentas

&Y

13 mm

Bolts & Nuts/Viti e dadi/\Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

2X__4X 22X

Z 98

16 Saturn FIVE



M Munters Saturn FIVE
Panel assembly (WallMount) / Assemblaggio pannelli (WallMount) / Assemblage des
Op 0 panneaux. (WallMount) / Paneel-Montage (WallMount) / Ensamblaje de los pnneles

(WallMount) / Montagem dos paingis (WallMount)

Tools/ Utensili/Ustensiles/Werkzeuge
OP.09 OP'OB /Instrumentos/Ferramentas

e

13 mm

Bolts & Nuts/Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas,/Parafusos e porcas

Zo)e)

Panel assembly (WallMount) / Assemblaggio pannelli (WallMount) / Assemblage des
Op 0 panneaux. (WallMount) / Paneel-Montage (WallMount) / Ensamblaje de los puneles
(WallMount) / Montagem dos painéis (WallMount)

\ Tno|s/UtensiIi/UstensiIes/Werkzeuge

/Instrumentos/Ferramentas

&y

13 mm

Bolts & Nuts/\Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tnmillos y tuercas,/Parafusos e porcas

8X_ 4X

£/

-

T

Saturn FIVE 17



Saturn FIVE

& Munters

Angle Brackets Mounting (WallMount) / Montaggio Staffe angolari (WallMount) / Montage
des équerres d'angle (WallMount) / Montage Winkelhalterungen (WallMount) / Montaje
de los estribos angulares (WallMount) / Montagem de suportes angulares (WallMount)

Op.1

~

TH

Panel assembly (WallMount) / Assemblaggio pannelli (WallMount) / Assemblage des
panneaux (WallMount) / Paneel-Montage (WallMount) / Ensamblaje de los paneles
(WallMount) / Montagem dos paindis (WallMount)

Op]

~

Tools,/Utensili/Ustensiles,/ Werkzeuge
/Instrumentos/Ferramentas

Bolts & Nuts/Vii e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

8X_ _4X

Tools/ Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

Bolts & Nuts/Viti e dadi/\Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

16X 16X

Q)

Saturn FIVE



M Munters Saturn FIVE
Op ] 2 Assembly of motor supports / Assemblaggio supporti motore / Assemblage supports mo-

teur / Montage von Motortriigern/Ensamblaje de los soportes para el motor / Montagem
dos suportes do motor % HP

\ Tools/Utensili/Ustensiles/Werkzeuge

/Instrumentos/Ferramentas

&y

13 mm

Bolts & Nuts/Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

4X_ 4X

e

M8x25 M8

\_
Motor Mounting / Montaggio Motore / Montage du moteur / Montage des Motors /
Op' ] Montaje del motor / Montagem do motor

\ Tools/Utensili/Ustensiles/Werkzeuge

/Instrumentos/Ferramentas

&y

13 mm

Bolts & Nuts/\Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

2X 44X 2X
2l

2@

.. 7 ’\'!,

7=/
-,

\)
)
V7

N\ ) =/
V=

)

\

Saturn FIVE 19




Satur FIVE M Munters
Op ] Motor Mounting / Montaggio Motore / Montage du moteur / Montage des Motors /

Montae del motor / Montagem do motor

\ Tools,/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

ey

17 mm

e

Bolts & Nuts/Vii e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

4X_ 8X_ 4X

y® i M10X50) | @10x20 M10

00
0®

%

o
O '| Motor Mounting / Montaggio Motore / Montage du moteur / Montage des Motors /
p- Montaje del motor / Montagem do motor

\ Tools/Utensili/Ustensiles /Werkzeuge

/Instrumentos/Ferramentas

&y

10 mm

Bolts & Nuts/Viti e dadi/\Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

4X 4X
c4

20 Saturn FIVE



Munters

Saturn FIVE

Condensate drain and fairlead /Scarico condensa e passacavo/Ecoulement des condensats

. et presse-étoupe,/Kondensatablauf und Kabelverschraubung /Escape condensacion y pasa-
cables/Descarga de condensacio e ilhd

=@

\

\ Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

s

%

A

PERFORATE THE CONVEYOR ONLY IF NECESSARY.
USE CAUTION WHEN BREAKING MARKED PART.

A

BOHREN SIE DEN FORDERER NUR BEI BEDARF AN.

VORSICHT BEIM BRECHEN MARKIERTER TEILE.

FORARE IL CONVOGLIATORE SOLO SE NECESSARIO.

USARE CAUTELA NEL ROMPERE LE PARTI MARCATE.

A

PERFORE EL TRANSPORTADOR SOLO SI ES NECE-
SARIO. PRESTE ATENCION AL ROMPER LAS PARTES
MARCADAS.

A

FORER LE CONVOYEUR UNIQUEMENT SI NECESSAIRE.
SOYEZ PRUDENT LORSQUE VOUS CASSEZ DES PIECES
MARQUEES.

A

PERFURAR O TRANSPORTADOR APENAS SE
NECESSARIO. CUIDADO AO ROMPER AS PARTES
MARCADAS.

Saturn FIVE

21



Saturn FIVE

& Munters

Op 'I 5 Transmission belt mounting / Montaggio cinghia trasmissione / Montage de la courroie

de transmission / Montage des Antriebsriemens / Montaje de la correa de transmision /
Montagem da correia de transmissdo

&% HP

-

\ Tools/Utensili /Ustensiles /Werkzeuge
/Instrumentos/Ferramentas

13 mm

Bolts & Nuts/Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas,/Parafusos e porcas

A

Place v-belt (1) on the pulleys (2) and (3)
and then rotate the propeller clockwise in
order to tighten the v-belt on the pulleys.
Check tensioning: right tensioning is
obtained when tension over the v-belt
corresponds to a resonance frequency of
60+2 Hz measured by a v-belt tension
meter like the “Trummy 2” manufactured
by Fag or the “Ten-Sit” manufactured

by Sit.

A

Positionieren Sie den Keilriemen (1)

auf die Riemenscheiben (2) und (3),

und drehen Sie dann den Propeller im
Uhrzeigersinn, um dieKeilriemen auf
Riemenscheiben festzuziehen. Prifen Sie
die Spannung: die richtige Spannung ist
erreicht, wenn die Keilriemenspannung
einer Resonanzfrequenz von 60 + 2 Hz
entspricht, die von einem Spannungsmes-
sgerdt fur Keilriemen, wie dem “Trummy
2", von Fag oder dem “Ten-Sit” vonSit
gemessen wurde.

Posizionare la cinghia trapezoidale (1)
sulle pulegge (2) e (3), quindi ruotare
Ielica in senso orario per stringere la
cinghia trapezoidale sulle pulegge.
Controllare il tensionamento: il corretto
tensionamento si oftiene quando la
tensione sulla cinghia trapezoidale corri-
sponde a una frequenza di risonanza di
60 =+ 2 Hz ottenuta da un misuratore di
tensione per cinghie trapezoidali come il
“Trummy 2" prodotto da Fag o il “Ten-Sit”
prodotto da Sit.

A

Posicione la correa trapezoidal (1) sobre
las poleas (2) y (3) y rote la hélice en
sentido contrario a las agujas del reloj
para apretar la correa trapezoidal a las
poleas. Compruebe el tensado: el tensa-
do correcto se obtiene cuando la tensién
sobre la correa trapezoidal corresponde
con una frecuencia de resonancia de

60 * 2 Hz obtenida por un medidor de
tensién para correas trapezoidales como
el “Trummy 2" producido por Fag o el
“Ten-Sit” producido por Sit.

Placer la courroie trapézoidale (1)

sur les poulies (2) et (3), puis tournez
I’hélice dans le sens horaire pour tendre
la courroie trapézoidale sur les poulies.
Contréler la tension : la bonne

tension s’obtient lorsque la tension sur la
courroie trapézoidale correspond & une
fréquence de résonance de 60 * 2 Hz
obtenue par un tensiométre

pour les courroies trapézoidales tel que le
“Trummy 2" produit par Fag ou le “Ten-
Sit” produit par Sit.

A

Posicionar a correia trapezoidal (1)

nas polias (2) e (3), e depois rodar

a hélice em sentido hordrio para apertar
a correia trapezoidal nas polias. Verificar
a tensdo: a tens@o correta obtém-se
quando a fenséo na correia trapezoi-
dal corresponde a uma frequéncia de
ressondncia de 60 + 2 Hz obtida por
um medidor de tensdo para correias
trapezoidais como o “Trummy 2" produ-
zido pela Fag ou o “Ten-Sit” produzido
pela Sit.

22

Saturn FIVE



M Munters Saturn FIVE
Op ] Fan mounting / Montaggio ventola / Montage du ventilateur / Montage des Lifters /

Montaje del ventilador / Montagem da ventoinha

\ Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

e

13 mm

Bolts & Nuts/Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas,/Parafusos e porcas

oA

4X

AIRNEY

=7

7L

17
\Z/;
Z

/=7

W

”\v/x e ‘\'!

=Z

o
0 ] Fan mounting / Montaggio ventola / Montage du ventilateur / Montage des Liifters /
p- Montaje del ventilador / Montagem da ventoinha

\ Tools/Utensili/Ustensiles/Werkzeuge

/Instrumentos/Ferramentas

&y

13 mm

-

Bolts & Nuts/\Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

4X

AIENEY

A\ YA

G

Saturn FIVE 23



Saturn FIVE & Munters

O ] Fan mounting / Montaggio ventola / Montage du ventilateur / Montage des Liifters /
p- Montaie del ventilador / Montagem da ventoinha

O ] Fan mounting / Montaggio ventola / Montage du ventilateur / Montage des Liifters /
p- Montaie del ventilador / Montagem da ventoinha

~

Tools,/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

oY

17 mm

-

Bolts & Nuts/Vii e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

1X 1X 1X

@[ 8] O

M10x25) | @10.5 | [@10.5x40

Tools/Utensili/Ustensiles /Werkzeuge
/Instrumentos/Ferramentas

&Y

13 mm

-

Bolts & Nuts/Viti e dadi/\Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

1X 1X 1

FAEIEY

24

Saturn FIVE



& Munters

Saturn FIVE

@ BUTTERFLY ASSEMBLY AND INSTALLATION

@ ASSEMBLAGGIO ED INSTALLAZIONE BUTTERFLY
@ ASSEMBLAGE ET INSTALLATION BUTTERFLY
© JUSAMMENBAU UND INSTALLATION BUTTERFLY
@ ENSAMBLAJE E INSTALACION BUTTERFLY

@ MONTAGEM E INSTALACAQ BUTTERFLY

O ] 7 Magnet unit assembly / Assemblaggio gruppo Magneti / Assemblage groupe Aimants /
p° Zusammenbau der Magnetbaugruppe / Ensamblaje grupo Magnetos / Montagem grupo

de Imds

[ x2 (Without magnet)

Saturn FIVE



Saturn FIVE & Munters

Op ] Ring assembly / Assemblaggio anello / Assemblage anneau / Zusammenbau des Rings/

Ensamblaje anilla / Montagem do anel

=

9 D
Ring assembly / Assemblaggio anello / Assemblage anneau / Zusammenbau des Rings/

Op- ] 9 Ensamblaje anilla / Montagem do anel

HP

/ \ Tools/Utensili/Ustensiles /Werkzeuge

/Instrumentos/Ferramentas

&Y

13 mm

Bolts & Nuts/Viti e dadi/\Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

16X 16X 16X

29 @)

M8X65 D8

26 Saturn FIVE



& Munters

Saturn FIVE

Magnet unit installation / Montaggio gruppo Magneti / Montage groupe Aimants / Mon-
fage der Magnetbougruppe / Insfalacion del grupo Magnetos / Montagem do grupo de
Imds

Op.2

(x

~

2 (Without magnet)

Magnet unit installation / Montaggio gruppo Magneti / Montage groupe Aimants / Mon-
fage der Magnetbaugruppe / Insfalacion del grupo Magnetos / Montagem do grupo de
Imds

\_
Op.21

(x4 (With magnet)

~

Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

ey

13 mm

Bolts & Nuts/\Vii e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

4X 4X
Z

Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

ey

13 mm

Bolts & Nuts/\Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

8X 8X
2

M8X50

Saturn FIVE

27



Saturn FIVE & Munters

Op 2 2 Ring installation / Montaggio anello / Montage anneau / Montage des Rings/ Instalacidn

anilla / Montagem do anel

Tools,/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

@@
A s

13 mm

Bolts & Nuts/Vii e dadi/\Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

RRRRRRRRRRRRRRRRRRR

DURA DA E!
INSTALLAZI
UIVR
ILATE
ER VWANDMONTA(
FUHRENDER VOR
A
.
74
’\\/"“’?}_N DO VENTILADOF

X =
//

s AN

e, \A
7 DA

AL
A ‘//
/ // ): > < l/_/
/TG

-
~
e
~
~
-
-
~
-
-
-
~
e
~

28 Saturn FIVE



M Munters Saturn FIVE
Door assembly / Assemblaggio ante / Assemblage vantaux / Zusommenbau der Tiren/
Op 2 3 Ensomblaje de la puerta / Montagem ante

-

\_

o
Op 2 Door assembly / Assemblaggio ante / Assemblage vantaux / Zusommenbau der Tiren/ a DD

Ensomblaje de la puerta / Montagem ante

\ Tools/Utensili/Ustensiles/Werkzeuge

/Instrumentos/Ferramentas

Bolts & Nuts/\Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

16X

D4,8x9,5

Saturn FIVE 29



Saturn FIVE

& Munters

Door assembly / Assemblaggio ante / Assemblage vantaux / Zusammenbau der Tiren/
Ensamblaje de la puerta / Montagem ante

Op.2

Butterfly mounting on Fan / Montaggio Butterfly sul Ventilatore / Montage Butterfly sur
le ventilateur / Montage Butterfly am Lifter / Instalacion de la Butterfly en el ventilador
/ Montagem Butterfly no Ventilador

~

Tools,/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

Bolts & Nuts/Vii e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

12X
b

D4,8x9,5

Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

A

Bolts & Nuts/\Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

2X 2X
Sl
M8X50 M8
/
30 Saturn FIVE



& Munters

Saturn FIVE

Butterfly mounting on Fan / Montaggio Butterfly sul Ventilatore / Montage Butterfly sur
le ventilateur / Montage Butterfly am Lifter / Instalacion de lo Butterfly en el ventilador
/ Montagem Butterfly no Ventilador

Op.27
B

~

Butterfly springs mounting / Montaggio molle Butterfly / Montage ressorts Butterfly /
Montage der Federn Butterfly / Instalacidn resortes Butterfly / Montagem de molas
Butterfly

~

Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

-

Bolts & Nuts/Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas,/Parafusos e porcas

2X 2X

Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

Bolts & Nuts/\Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

Saturn FIVE

31



Saturn FIVE M Munters
Butterfly springs mounting / Montaggio molle Butterfly / Montage ressorts Butterfly /
Op-z Montage der Federn Butterfly / Instalacidn resortes Butterfly / Montagem de molas

Butterfly

f \ Tools/Utensili/Ustensiles/Werkzeuge
/ /Instrumentos/Ferramentas
/ "t X

Bolts & Nuts/Vii e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

\_ CD)D)D)DDDDDDDDDDDDDDD)))DDDD)D))D)DDDDDDD))))D))D)DD))DDDD)))D)D)))DDDD))D)D)

@& ASSEMBLY OF AIR EXTRACTION CONE UNIT

@ ASSEMBLAGGIO GRUPPO CONO DI SCARICO ARIA <
@ MONTAGE DU GROUPE DU CONE D'EVACUATION DE L'AIR \
© MONTAGE LUFTAUSTRITTSKEGELEINHEIT |

@ MONTAJE GRUPO CONO DE SALIDA DE AIRE

@ MONTAGEM DO GRUPO DO CONE DE DESCARGA DE AR

32 Saturn FIVE



& Munters

Saturn FIVE

Cone Mounting / Montaggio Cono / Montage du cne / Montage des Kegels / Montaje
del cono / Montagem do cone

Op.3
B

~

"

lhd

Cone Mounting / Montaggio Cono / Montage du cne / Montage des Kegels / Montaje
del cono / Montagem do cone

\J
Op.3

-

~

=

Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

13 mm

&y
1%

Bolts & Nuts/Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas,/Parafusos e porcas

3X__3X

<@

M8x25 M8

Tools/Utensili/Ustensiles/Werkzeuge
/Instrumentos/Ferramentas

13 mm

&y
1%

Bolts & Nuts/\Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

3X 3X

Saturn FIVE

33



Saturn FIVE & Munters

Cone Mounting / Montaggio Cono / Montage du cGne / Montage des Kegels / Montaje
Op'3 del cono / Montagem do cone
- P - L
\

Step 4

-

k ~ .
(one Mounting / Montaggio Cono / Montage du cGne / Montage des Kegels / Montaje

Op°3 del cono / Montagem do cone

HP EL

Tools/Utensili/Ustensiles /Werkzeuge
/Instrumentos/Ferramentas

~

13 mm

&Y
1%

Bolts & Nuts/Viti e dadi/\Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

6X_ 6X

34 Saturn FIVE



M Munters Saturn FIVE
Mounting of cone protection grille / Montaggio griglia protezione Cono / Montage grille

Op 3 4 de protection du cne / Montage des Kegelschutzgitters / Montae reiilla de proteccion del
cono / Montagem da grelha de protegdo do cone HP

9 &

Bolts & Nuts/\Vii e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas

8X_ 8X

Saturn FIVE 35



Saturn FIVE @ Munters

@D AIR EXHAUST CONE ASSEMBLY INSTALLATION

@D INSTALLAZIONE DEL GRUPPO CONO DI SCARICO ARIA

@ INSTALLATION DU GROUPE CONE D’EVACUATION DE L'AIR
© INSTALLATION DER KEGELBAUGRUPPE ZUM LUFTAUSLASS
@ INSTALACION DEL GRUPO CONO DF DESCARGA DE AIRE

@ INSTALACAO DO GRUPO DO CONE DE DESCARGA DE AR

36 Saturn FIVE



& Munters

Saturn FIVE

0 35 Cone installation on fan / Installazione Cono su ventilatore / Installation du cdne sur le
p- ventilateur / Installation des Kegels om Lifter / Instalacin del Cono en el ventilodor /

Instalago do Cone no ventilador

~

Tools/Utensili/Ustensiles /Werkzeuge
/Instrumentos/Ferramentas

13 mm

&y
1%

Bolts & Nuts/\Viti e dadi/Vis et écrous
/Schrauben und Schraubenmuttern,/
Tornillos y tuercas/Parafusos e porcas

4X 4X
=

A PROCEDURE FOLLOWING WALL
INSTALLATION OF THE FAN.

A PROCEDURA DA ESEGUIRE SUCCESSI-
VAMENTE ALL'INSTALLAZIONE A MURO DEL
VENTILATORE.

A PROCEDURE A SUIVRE APRES

S, | INSTALLATION DU VENTILATEUR DANS LE MUR.

A NACH DER WANDMONTAGE DES
LUFTERS DURCHZUFUHRENDER VORGANG.

mmmmmmmm

A PROCEDIMENTO A EXECUTAR APOS A
INSTALACAO NA PAREDE DO VENTILADOR.

Saturn FIVE

37



Munters

>’
-’

Saturn FIVE

21 AT

3

7

@ INSTALACION DE LA REJILLA DE PROTECCION INTERNA

@ MONTAGGIO GRIGLIA DI PROTEZIONE INTERNA
@ MONTAGE GRILLE DE PROTECTION INTERNE
©> MONTAGE DES INTERNEN SCHUTZGITTERS

@ INTERNAL PROTECTION GRID MOUNTING

@ MONTAGEM DA GRELHA DE PROTECAQ INTERNA

7

Saturn FIVE

38



Saturn FIVE

grille de protection inteme / Montage des infernen Schutzgitters / Instalacion de la rejilla

Internal profection grid mounting / Montaggio griglia di protezione interna / Montfage
de proteccion interna / Montagem da grelha de protecto inferna

™ Munters
Op.36

3X

Tools/Utensili/Ustensiles/Werkzeuge
6 mm
Bolts & Nuts/Vii e dadi/Vis et écrous
/Schrauben und Schraubenmuttern/
Tornillos y tuercas/Parafusos e porcas
3X
| ®
M8xs0 M8
3X
S
M8x12,5

/Instrumentos/Ferramentas

13 mm

A1 1111111111 H1EEAEEEEERERERRRARRARARRRRRNY j
ANARARRARRARANY A1AVALRAARARARRARRARARANY
ANAMANN AALAVARRARRARARRANRANANY AN
VAANARARRRARANANY AN\ ANMARARNANNLY
LNARAYSANRNEVANNANNAY ARNARANGMRNANANRANRLY
TEEN AT/ HAM1ARARARRARRARA VRO AARRANY
ZAN) FANASKAARARARRARRARANY VANIANARNANY
AT WAVANNANRANNNN ANNARRANARA RRARRANY
AVANNAY ANLARARRARRFAANRR R ANANN
ZUNANARRARANRARRANANN ANNARR NRANY

~

?7

; FANNNN\ N
ZANAANALRARARRARRARARANNY < AR\
AANANNANANY SANNNNNNY X AN\
AN ANNARVANARNNNY AN A\ \

S X RN

AN //

LLALAARARARRARRVASRRANNAY ;
i %3

ALLARARNARRNNNE ALLARARRARRARARRRRNLY

>

/ AT

39

Saturn FIVE



V) Munters

AM_SaturnFIVE_202411_Multi
P/N 2200221

Munters Italy S.p.A

Strada Piani, 12
18027 Chiusavecchia (IM), ltaly
Tel: +39 0183 52 11
Fox: +39 0183 521 333

email: info@munters.it

www.munters.com

For production or other reasons, after publication © Munters AB, 20200 reserves the right to make changes to specifications,
quantities, etc. / / Per motivi di produzione o di altro tipo, successivamente alla pubblicazione © Munters AB, 20200 riserva il
diritto di apportare modifiche a specifiche, quantitd, ecc... / / Pour des raisons de production ou autres, aprés publication ©
Munters AB, 20200 se réserve le droit d’apporter des modifications aux spécifications, aux quantités, etc. / / Aus Produktions-
oder anderen Griinden behalt sich Munters AB, 20200 nach der Versffentlichung © Munters AB, 20200 das Recht vor, Ander-
ungen an Spezifikationen, Mengen usw. vorzunehmen. / / Por motivos de produccién o de ofro tipo, después de la publicacién,
© Munters AB 20200 se reserva el derecho de realizar cambios y modificaciones de las especificaciones, cantidades, etc. / /
Por motivos de produgéo ou de outro tipo, posteriores & publicacdo a © Munters AB, 20200 reserva-se o direito de realizar
modificacdes nas especificagdes, quantidade, efc.



	BODY AND MOTOR ASSEMBLY
	ASSEMBLAGGIO CARROZZERIA E MOTORE
	ASSEMBLAGE CARROSSERIE ET MOTEUR
	ZUSAMMENBAU VON AUFBAU UND MOTOR
	ENSAMBLAJE DE LA CARROCERÍA Y DEL MOTOR
	MONTAGEM DO CORPO E DO MOTOR
	Op.01	Superstructure Assembly / Assemblaggio superstruttura / Montage Structure Supérieure / Zusammenbau Der Superstruktur/Ensamblaje De La Superestructura / Montagem Da Superestrutura
	Op.01	Superstructure Assembly / Assemblaggio superstruttura / Montage Structure Supérieure / Zusammenbau Der Superstruktur/Ensamblaje De La Superestructura / Montagem Da Superestrutura
	Op.01	Superstructure Assembly / Assemblaggio superstruttura / Montage Structure Supérieure / Zusammenbau Der Superstruktur/Ensamblaje De La Superestructura / Montagem Da Superestrutura
	Op.02	Hub assembly / Assemblaggio mozzo / Assemblage du moyeu / Montage der Nabe / Ensamblaje del portabuje / Montagem do cubo
	Op.03	Hub fixing on structure / Fissaggio mozzo su struttura / Fixation du moyeu sur la structure / Befestigung der Nabe an der Struktur / Fijación del portabuje sobre la estructura / Fixação do cubo à estrutura
	Op.04	Conveyor assembly / Assemblaggio convogliatore / Assemblage du convoyeur / Montage der Förderer-Baugruppe / Ensamblaje del transportador / Montagem da transportadora
	Op.05	Conveyor fixing on structure/Fissaggio convogliatore su struttura/Fixation du convoyeur sur la structure/Befestigung des Förderers an der Struktur/Fijación del transportador sobre la estructura/Fixação da transportadora 
	Op.06	Reinforcement bracket fixing/Fissaggio staffa di rinforzo/Fixation de l’équerre de renforcement/Befestigung von Verstärkungsbügeln/Fijación del estribo de refuerzo/ Fixação da haste de reforço
	Op.07	Panel assembly / Assemblaggio pannelli / Assemblage des panneaux / Paneel-Montage / Ensamblaje de los paneles / Montagem dos painéis
	Op.08	Panel assembly / Assemblaggio pannelli / Assemblage des panneaux / Paneel-Montage / Ensamblaje de los paneles / Montagem dos painéis
	Op.09	Panel assembly / Assemblaggio pannelli / Assemblage des panneaux / Paneel-Montage / Ensamblaje de los paneles / Montagem dos painéis
	Op.10	Angle Brackets Mounting / Montaggio Staffe angolari / Montage des équerres d’angle / Montage Winkelhalterungen / Montaje de los estribos angulares / Montagem de suportes angulares
	Op.11	Panel assembly / Assemblaggio pannelli / Assemblage des panneaux / Paneel-Montage / Ensamblaje de los paneles / Montagem dos painéismontaggio profilo dell’oscurante
	Op.07	Panel assembly (WallMount) / Assemblaggio pannelli (WallMount) / Assemblage des panneaux (WallMount) / Paneel-Montage (WallMount) / Ensamblaje de los paneles (WallMount) / Montagem dos painéis (WallMount)
	Op.08	Panel assembly (WallMount) / Assemblaggio pannelli (WallMount) / Assemblage des panneaux (WallMount) / Paneel-Montage (WallMount) / Ensamblaje de los paneles (WallMount) / Montagem dos painéis (WallMount)
	Op.09	Panel assembly (WallMount) / Assemblaggio pannelli (WallMount) / Assemblage des panneaux (WallMount) / Paneel-Montage (WallMount) / Ensamblaje de los paneles (WallMount) / Montagem dos painéis (WallMount)
	Op.10	Angle Brackets Mounting (WallMount) / Montaggio Staffe angolari (WallMount) / Montage des équerres d’angle (WallMount) / Montage Winkelhalterungen (WallMount) / Montaje de los estribos angulares (WallMount) / Montagem de suportes angulares (WallMoun
	Op.11	Panel assembly (WallMount) / Assemblaggio pannelli (WallMount) / Assemblage des panneaux (WallMount) / Paneel-Montage (WallMount) / Ensamblaje de los paneles (WallMount) / Montagem dos painéis (WallMount)
	Op.12	Assembly of motor supports / Assemblaggio supporti motore / Assemblage supports moteur / Montage von Motorträgern/Ensamblaje de los soportes para el motor / Montagem dos suportes do motor
	Op.13	Motor Mounting / Montaggio Motore / Montage du moteur / Montage des Motors / Montaje del motor / Montagem do motor 
	Op.13	Motor Mounting / Montaggio Motore / Montage du moteur / Montage des Motors / Montaje del motor / Montagem do motor 
	Op.13	Motor Mounting / Montaggio Motore / Montage du moteur / Montage des Motors / Montaje del motor / Montagem do motor 
	Op.14	Condensate drain and fairlead/Scarico condensa e passacavo/Écoulement des condensats et presse-étoupe/Kondensatablauf und Kabelverschraubung/Escape condensación y pasacables/Descarga de condensação e ilhó 
	Op.15	Transmission belt mounting / Montaggio cinghia trasmissione / Montage de la courroie de transmission / Montage des Antriebsriemens / Montaje de la correa de transmisión / Montagem da correia de transmissão
	Op.16	Fan mounting / Montaggio ventola / Montage du ventilateur / Montage des Lüfters / Montaje del ventilador / Montagem da ventoinha
	Op.16	Fan mounting / Montaggio ventola / Montage du ventilateur / Montage des Lüfters / Montaje del ventilador / Montagem da ventoinha
	Op.16	Fan mounting / Montaggio ventola / Montage du ventilateur / Montage des Lüfters / Montaje del ventilador / Montagem da ventoinha
	Op.16	Fan mounting / Montaggio ventola / Montage du ventilateur / Montage des Lüfters / Montaje del ventilador / Montagem da ventoinha

	BUTTERFLY ASSEMBLY AND INSTALLATION
	ASSEMBLAGGIO ED INSTALLAZIONE BUTTERFLY
	ASSEMBLAGE ET INSTALLATION BUTTERFLY
	ZUSAMMENBAU UND INSTALLATION BUTTERFLY
	ENSAMBLAJE E INSTALACIÓN BUTTERFLY
	MONTAGEM E INSTALAÇÃO BUTTERFLY
	Op.17	Magnet unit assembly / Assemblaggio gruppo Magneti / Assemblage groupe Aimants / Zusammenbau der Magnetbaugruppe / Ensamblaje grupo Magnetos / Montagem grupo de Ímãs
	Op.18	Ring assembly / Assemblaggio anello / Assemblage anneau / Zusammenbau des Rings/ Ensamblaje anilla / Montagem do anel
	Op.19	Ring assembly / Assemblaggio anello / Assemblage anneau / Zusammenbau des Rings/ Ensamblaje anilla / Montagem do anel
	Op.20	Magnet unit installation / Montaggio gruppo Magneti / Montage groupe Aimants / Montage der Magnetbaugruppe / Instalación del grupo Magnetos / Montagem do grupo de Ímãs
	Op.21	Magnet unit installation / Montaggio gruppo Magneti / Montage groupe Aimants / Montage der Magnetbaugruppe / Instalación del grupo Magnetos / Montagem do grupo de Ímãs
	Op.22	Ring installation / Montaggio anello / Montage anneau / Montage des Rings/ Instalación anilla / Montagem do anel
	Op.23	Door assembly / Assemblaggio ante / Assemblage vantaux / Zusammenbau der Türen/ Ensamblaje de la puerta / Montagem ante
	Op.24	Door assembly / Assemblaggio ante / Assemblage vantaux / Zusammenbau der Türen/ Ensamblaje de la puerta / Montagem ante
	Op.25	Door assembly / Assemblaggio ante / Assemblage vantaux / Zusammenbau der Türen/ Ensamblaje de la puerta / Montagem ante
	Op.26	Butterfly mounting on Fan / Montaggio Butterfly sul Ventilatore / Montage Butterfly sur le ventilateur / Montage Butterfly am Lüfter / Instalación de la Butterfly en el ventilador / Montagem Butterfly no Ventilador
	Op.27	Butterfly mounting on Fan / Montaggio Butterfly sul Ventilatore / Montage Butterfly sur le ventilateur / Montage Butterfly am Lüfter / Instalación de la Butterfly en el ventilador / Montagem Butterfly no Ventilador
	Op.28	Butterfly springs mounting / Montaggio molle Butterfly / Montage ressorts Butterfly / Montage der Federn Butterfly / Instalación resortes Butterfly  / Montagem de molas Butterfly 
	Op.29	Butterfly springs mounting / Montaggio molle Butterfly / Montage ressorts Butterfly / Montage der Federn Butterfly / Instalación resortes Butterfly  / Montagem de molas Butterfly

	ASSEMBLY OF AIR EXTRACTION CONE UNIT
	ASSEMBLAGGIO GRUPPO CONO DI SCARICO ARIA
	MONTAGE DU GROUPE DU CÔNE D’ÉVACUATION DE L’AIR
	MONTAGE LUFTAUSTRITTSKEGELEINHEIT
	MONTAJE GRUPO CONO DE SALIDA DE AIRE
	MONTAGEM DO GRUPO DO CONE DE DESCARGA DE AR
	Op.30	Cone Mounting / Montaggio Cono / Montage du cône / Montage des Kegels / Montaje del cono / Montagem do cone 
	Op.31	Cone Mounting / Montaggio Cono / Montage du cône / Montage des Kegels / Montaje del cono / Montagem do cone 
	Op.32	Cone Mounting / Montaggio Cono / Montage du cône / Montage des Kegels / Montaje del cono / Montagem do cone 
	Op.33	Cone Mounting / Montaggio Cono / Montage du cône / Montage des Kegels / Montaje del cono / Montagem do cone 
	Op.34	 Mounting of cone protection grille / Montaggio griglia protezione Cono / Montage grille de protection du cône / Montage des Kegelschutzgitters / Montaje rejilla de protección del cono / Montagem da grelha de proteção do cone 

	AIR EXHAUST CONE ASSEMBLY INSTALLATION
	INSTALLAZIONE DEL GRUPPO CONO DI SCARICO ARIA
	INSTALLATION DU GROUPE CÔNE D’ÉVACUATION DE L’AIR
	INSTALLATION DER KEGELBAUGRUPPE ZUM LUFTAUSLASS
	INSTALACIÓN DEL GRUPO CONO DE DESCARGA DE AIRE
	INSTALAÇÃO DO GRUPO DO CONE DE DESCARGA DE AR
	Op.35	Cone installation on fan / Installazione Cono su ventilatore / Installation du cône sur le ventilateur / Installation des Kegels am Lüfter / Instalación del Cono en el ventilador / Instalação do Cone no ventilador 

	INTERNAL PROTECTION GRID MOUNTING 
	MONTAGGIO GRIGLIA DI PROTEZIONE INTERNA 
	MONTAGE GRILLE DE PROTECTION INTERNE 
	MONTAGE DES INTERNEN SCHUTZGITTERS 
	INSTALACIÓN DE LA REJILLA DE PROTECCIÓN INTERNA 
	MONTAGEM DA GRELHA DE PROTEÇÃO INTERNA 
	Op.36	Internal protection grid mounting / Montaggio griglia di protezione interna / Montage grille de protection interne / Montage des internen Schutzgitters / Instalación de la rejilla de protección interna / Montagem da grelha de proteção interna 


